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Integers October 2009

Add zeros until | have
enough tiles to take

(_3) - (_7) away 7 negatives.
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Add zeros until | have
enough tiles to take
away 4 negatives.

(+8) - (-4) 0 mE
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(+8) - (-4) = +12
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Say it in words:
|:| . Add on 3 sets of -2

Always start with
a bucket of zero
and some extra
zeros to use.

Multiplying Integers



Integers

Say it in words:
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Take oft 3 sets of +4
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(-4) X (-3)

Take off 4 sets of -3




(+3) x (-3)

-+

Add on 3 sets of -3

Say it in words:
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Say it in words: Take off 4 sets of +3 (_4) X (+3)
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Diving Integers!

Consider, if (+2) x (-4) = (-8) means add two sets of -4 to zero and you get -
8, then what does it mean to divide?

We know, because it is in the fact family, that the following is true, but what
does this tell us?

(-8) + (=4) = (+2)

I want to make a group of -8 using sets of -4.
How many sets of -4 do I need to make -8? Will T add the sets of -4 to the
bucket of zero or take them from the bucket of zero?

I would need to add two (+2) sets of -4 to a bucket of zero to make -8. So my
solution is +2 meaning add two sets of -4 to the bucket of zero.
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(+9) = (+3) =" (+9)+(+3)=(+3)  Om

Think:

How many sets of +3 do I need to make +9? Solution process:

Will I be adding sets of +3 to the bucket of To make the value of the bucket +9 I WOL{|d
zero (+ answer) or taking sets of +3 from the need to add three sets of +3, so my solution

bucket of zero (- answer)? must be +3.
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(+8) = (—4) = ?._f& (+8)+(-49)=(-2) pDOm

Think:

How many sets of -4 do I need to make +8? Solution process:

Will T be adding sets of -4 to the bucket of To make the value of the bucket -8 T would
zero (+ answer) or taking sets of -4 from the need fo take away two sefs of -4, so my
bucket of zero (- answer)? solution must be -2.

00
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(-8)+(+2)=7—Y

Think:

How many sets of +2 do I need to make -8?
Will T be adding sets of +2 to the bucket of
zero (+ answer) or taking sets of +2 from the
bucket of zero (- answer)?

(-8)+(+2) = (-4)

Solution process:

To make the value of the bucket -8 T would
need to take away four sets of +2 so my
solution must be -4.
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(—6)+(=3)=?

Think:

How many sets of -3 do I need to make -6?
Will I be adding sets of -3 to the bucket of
zero (+ answer) or taking sets of -3 from the
bucket of zero (- answer)?

(—6) = (=3) = (+2l;|:|:'|':' O

Solution process:
To make the value of the bucket -6 I would

need to add two sets of -3, so my solution
must be +2.

October 2009
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Say 1t in words: -15) = (-3

How do I make the bucket have a value
. D
of -15 1f I can only use groups of -3? [I .
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Say 1t in words: “12) = (+3

How do I make the bucket have a value
P
of -12 1f I can only use groups of +3? [I .
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Say 1t in words: 4 .
How do I make the bucket have a value ( 1 O) ' ( 2)

of +10 1f I can only use groups of -2? (+10) = (-2) = -5 |:| .
[ |




—9x%x + 2
+3A x +9
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